Errata: 2013 LTC Format - Incidence Lapse Mortality final updated 20130725.xlsx
1. Description of data item 31 should say, “If Item 21, Overall Policy Lifetime Maximum Benefit Indicator, equals ‘1’, leave blank.”
2. Description of data item 38 should say, “If Item 24, Overall Care Waiting Period / Elimination Period / Deductible Amount Indicator, equals ‘1’, leave blank.”
3. Description of data item 43 should say, “If Item 21, Overall Policy Lifetime Maximum Benefit Indicator, equals ‘1’, leave blank.”
4. Description of data item 44 should say, “If Item 24, Overall Care Waiting Period / Elimination Period / Deductible Amount Indicator, equals ‘1’, leave blank.”
5. Description of data item 49 should say, “If Item 21, Overall Policy Lifetime Maximum Benefit Indicator, equals ‘1’, leave blank.”
6. Description of data item 50 should say, “If Item 24, Overall Care Waiting Period / Elimination Period / Deductible Amount Indicator, equals ‘1’, leave blank.”
